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1. (a) State which of the following statements are true or false

(Any Five): | (1x5=5)
|
Frfoiem =l ¥ ¥ TR fF A A Tom v s s
T (d dtw):

(1) Validity of an argument always depends upon

truth/falsity of its premises and conclusion.

fr gfm < Au W IES IMOR wEg wu e
' e/ A )RR s 7

(i) Fallacy of Accent is a type of Fallacy of
Ambiguity.

T AV UH TER 1 qEdE AW 2 |
(iii) ‘A’ proposition has no contradictory proposition.
‘A’ TE A S A TEAE A6 E |

(iv) A standard form ca[tegorical syllogism may

contain four terms.

frdt e o P R ¥ R T R w
g

(v) ‘AAA’ mood is valid in all figures.

‘AAA’ mmﬁmﬁaﬂﬁ%l

7040 3

(vi) ‘O’ proposition has a distributed predicate term.
‘0’ whaEm ¥ 9T we = fer @

(vii) ‘Shorter Truth Table’ and ‘Reductio ad absurdum’

are two different methods for proving validity of
arguments.

‘wﬁﬁawwwﬁfﬁﬁawﬁ&mﬁwaﬁﬂéwgﬁmﬂa%
%mTﬁazm%aﬁéTaﬁnammiﬁ&ﬁéw

(b) Fill in the blanks (Any Five) ; (1x5=5)

Red = A o e (@8 )

(i) 000 is a .. -+ mood in all the figures.

OO0 =it smafor ¥ S

(ii) A categorical proposition has

el e e @ 9T B R

(iii) The sub-contrary of ‘I proposition is

.............

ﬁ’a%mmxmr§3%ﬁm .............. 21

(iv) If one proposition is negative in a valid syllogism,
its conclusion must be .....

P.T.O.
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- R R du g ¥ v smeR T e @

@ ey e B Y |
(v) The conversion of ............... proposition is
" limited.
L= 51 R qEarRT 1 URaST AT B 2 |

(vi) The disjunction of any two propositions is true

when at least one of them is .......

A FA T RO T B § T I ¥ FA Y FA

...............

(vii) A statement form which is false under all

conditions is called a statement-form.

2. (a) Answer the following (Any Two) :

=i @ SR Al (@S /@)

X e and a
(i) State the distinction between a sentenc

proposition.

A IR A ¥ S wee @i |

3.

704? 5

(ii) Explain the concepts of truth and validity. When

can an argument be called a ‘Sound’ argument?

A AN AU S e e SR | R g
H B g T wE o wew ® 7

(i) How do you distinguish between deductive and

inductive arguments? Discuss.

e qor s gfeat A s @ e w5\ 7
e Five |

(b) What is Existential Import? Discuss with reference to

the Traditional Square of Opposition. &)

AT Al w2 ? IR ey o & weest ¥ s
HifoA |

OR / Iremar

Explain the Traditional Square of Opposition with
reference to the relations of Opposition.

faudia wael & = F GEREE TRy ot € e 9 |

(a) Translate the following sentences into their standard

logical form: (Any Five) (1x5=5)

P.T.O.
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(i) Some roses are yellow.
T a9 9 B T |
(i) Only children are innocent. -

R TAE T NS B 2

(i) No merchants are pirates.

g S R wEE S A A

(ii) Horses run fast. )

@ A ¥ ; (¢) If ‘No musicians are astronauts’ is True, determine the

: ’ ! truth/falsity of its opposites. (3)
afe g N Fhaw ke o T 2 W 2 A R fwde
A A e/ sRvar PR @R |

sforniT S W B 2 |

- |
(iii) Most poets are romalmc. {
|

(iv) All that glitters is not gold. !

T THET gl TS QET A B | 4. (a) Test the validity/invalidity of the following using the
(v) Not even one candidate was selected. Venn Diagram Method : (Any Two) (5x2=10)
T St Wl YA R I ﬁ?%ﬁaaaﬁaam/aﬁwa:rmmm R (e
' U
(vi) There are no golden mountains. )
S AR A & 2 | | () AAA-III
- (vii) Few cats are dangerous animals. (i) EAE-I
Tz fRftedl @aETs I 2 | : (iii) EIO-IV
ion Of
(b) Write the conversion, obversion and contrapositi ) OR / 3r2rat
s el Test the validity/invalidity of the following using six rules
PR @1 URad, WiaeT qe wReT forfer - (ﬁ of syllogism : (Any Two)
<l . .

W) P.T0,
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Srfefaa = Serr/ SRvRT g & oe fo @ fafr s (b) Change the following into the standard form categorical
. 2 ) | syllogisms and identify their moods and figures. (Any
iR ( One) (4)

(i) No bangles are square.

ot =t e s Ader =mgfa X sefe qur Se
FE R A TR (W ue)

Some bricks are squarc.
Therefore no bricks are bangles.

1

|

|
EOE) "1@ TR A8 2 " (i) Roses have thorns as all roses are fragrant and
W W } all fragrant things have horns.
R T g A we B ¥
(ii) All butterflies are insects. | e e
All ants are insects.

r (i) All musicians are artists and some artists are
Therefore all ants are butterflies.

arrogant persons. It follows that some musicians

wf fEhaf e B 2 | are arrogant persons.
w7 ARt e B 2 | T AT FARR B ¥ AN wS TR
s i Rraferdt <ifedt B 2 1 | aagW'R@2E1@5§HT§1%”§3?WFW’ﬁﬁmﬁ
=i B ¥ |
(iii) All snakes are reptiles.
Some snakes are not poisondus preass t5‘. () Symbolize the following using suggested notations: (Any
no : .
Therefore some poisonous creatures are Five) (1x5=5)
reptiles. M simdt @1 wanr = -
) Ho ut=r
il wf agy AW ¥ (s tr)
Fo af e SiE A B | (@ If he goes to a good doctor, he will be cured.

G, C
e g wdgT A 2! S
o c P.T.O.
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& @ R, SUSARL W\ (b) Use Truth Table Method to determine which of the
afk 98 TH F I t following forms are Tautologous, Contingent or
n e ((:1 C)n Boston or he is in California, 1 Contradictory : (Any One) 2
is1

(ii) Either Smit
B © wer et Rt & s g PR AR B P wo

m?ﬁww%r%m%@tﬁﬁmﬁl@ C) R ¥ X AR e, e ¥ (a2 7).

(iii) Sita will dance if and only if Gita will sing. (8,
iii :

G) . X
@maﬁﬁuﬁaﬁt%ﬁuﬁﬁmmﬁl(s,(}) @) ~po[(p>q) v ~p]

@) (P>9 > (~qg>~p)

have a cricket
(iv) Neither Bhopal nor Lucknow hav .

stadium. (B, L) 5
T ﬁmﬁsﬁt#ﬁmﬁﬁzéﬁm%

Determine the validity/invalidity of the following argument

forms using the Truth Table Method. (Any One) : (5)

FefolRaa gt SRRl &7 Sean/ s = aRen RAf g SRR

o 1 (H, B) | (1 THh) :
d d Bajaj two wheelers. (
. Honaa;?é’raq%aaqr%%n (H, B) G (p>q) > (qvp)
agrsa_{m on¢ qu/ qvp

hard,
(vi) It is not the case that if one works

does not pass the examination. (W, P) ﬂ () (P.q v (~p.~q)

. |
imﬁ%%@ﬁmwﬁﬁﬁﬁwﬁ ~ (.9 /% (~p.~0q)
w1 (W, P) s minist OR / rerat

u

b |
.. : ‘ the throne
(vii) The king always sits oD Use Shorter Truth Table Method to determine the

sits on chair. (K, M) . & 1 Validity/invalidity of the following: (Any One) :
: 3 forrg S )
o g RiEA | dod

fom E1 (K M) P.T.O.
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Y wa wron fafer gw fRefefes ot dun/seua Preffe €Rp
(g T) :
| @ p.q) >1] 2 (pvr)
i) [((p2q).(@>1)] 2 (p>25s)
7.  Explain any two fallacies with examples : (5%2=10)
Fredi QA% W Sem W =
(i) Fallacy of Division
e 2w
(ii) Petito Principii
TR AW
(iii) Fallacy of False Cause
fien &RoT AW
(iv) Appeal to Pity

T WAE AW
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1. (a) State which of the following are true or false: (any
five) (I1x5=5)

T B e A A Y T I e B (S i)
(i) 1& O propositions have existential import.
I 90 O o 9 ¥ e Al © |

(ii) Some categorical propositions are neither

affirmative nor negative.

%o Py o8 9 T @A TS BN 8 T
Fere |

(iii) A sound deductive argument is one that is valid

and has all true premises.

T O FeEEeTE g 98 B 2 S du E A
R @ TUR-E G B |

(iv) O proposition is the contradictory of A

proposition.

Oaafmaw,Aaa?amaﬂmﬁs‘m%l

(v) In E proposition the subject term is distributed

but the predicate term is not.

7041 3

Eﬁmiﬁﬂﬁmm%mﬁmw

e B ® |

(vi) The middle term appears in both the premises

but not in the conclusion.
HeW Ue Al m-a@ﬁmﬁm%ﬁﬁwﬁ
¥ wE B |

(vii) A syllogism with a particular conclusion can have

two universal premises.

sty Frers e gl @ ael MR — T A

B TS B
(b) Fill in the blanks (any five) : (1x5=5)
Rew Y O ARE (AE =) ;
(1) ThEiieuirensmiyens of an argument is the proposition

that is based on the basis of other propositions
in the argument.

foRel TR T € W g oren @ forgent faue
s T TN H ER W R w2

P.T.O.
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(ii) ‘No men are Women’ is the........... of ‘No \\ (vii) The truth function of cory'unction is true when
women are men’. ‘ both the conjuncts have ........... value.
‘ﬁéﬁwﬁraﬁ%"aﬁ%ﬁﬁwaﬁ%“w\ mwwwaﬁwﬁm%waﬁmw
............ 2 | A e B |

(iii) The ........... of a syllogism is determined by the 2. (a) Answer the following (any two) (4x2=8)
position of the middle term in its premises.

| frffaa & S e (8 q):

1E I 1 | 55 B ) = o srum-are
oA T 9 R @ smm w R W ? | (i) Differentiate between a sentence and proposition.

(iv) In contradictory relation both the propositions are . T SR T W AT HIY 'A

itati antitatively .......... ) .
faliatively anc qu Y ! (ii) How is inductive argument different from a

e ¥ o T o ARAVTE | deductive argument? Discuss.

T INEETE g R e gt @ fha
R B 7 7 fagee S |

(iii) Discuss the difference ‘between truth and

validity.

(vi) If premises are true and conclusion is false, the

Ol TF AUt D G We @ fqauar Sk |

argument 18 ueeisusnsainis

(b) Write a note on existential import. (5)

................ it e e T e e

| P.T.O.
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3.

OR / 3rerdl

Explain the Traditional Square of Opposition.

R it e e HT

(a) Translate th.e following sentences into their standard

logical form (any five) : (5)

ﬁwﬁﬁdﬁaﬁﬁmaﬁmaﬁﬁ AR X AR AT

(i) Few players: are healthy.
7o & Raed = T
(i) Young children are mostly fickle.
B T TR e o ® |
(iii) Not alll students are tall.
T T W A8 B B
(iv) Only books contain knowledge.

Fa T ¥ T RRE 2

l

(v) Old people are generally conservative.
T =l G S B ¢
(vi) Scientists are never sinners.

i I  TE A

(vii) Everyone cannot be a leader.

]

ye AfFa AT 781 a1 Fehal |

(b) If “All pilots are healthy” is given as True, determine
the truth and falsity of the following propositions : (3)

7R qef fEEeE we B 7 9 2, o Feffed @
T IR s FEiRe H |

(i) Some pilots are healthy.
wo e @ B T |
(ii) No pilots are healthy.
e e w8 A |
(iii) Some pil;)ts are not healthy.

w5 RS @ T |
N P.T.O.
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(c) Give the conversion, obversion and the contrapositigy PO pp—
of the following : (any one) ) |
Determine the validity/invalidity of the following using
frfofem @ TRae, WRET A ARTRAET AR (g | .
[ the Method of six Rules of Syllogism : (Any two)
T&) :
ol & duar/ srver s Rufon <l @ o0 Ao @

ffr ¥ AT (BE Dq)

(i) All merchants are pirates.

T O wHREe e e

(1) All politicians are selfish.

(i) Some students are voters. r ) )
Some writers are selfish.

EE) et wgemr ) Therefore, some writers are politicians.

T Torics @t e g
FHY oEE @l B 7
I HS AEH oA @ |

(a) Determine the validity/invalidity of any two of the
following using Venn Diagrams : (5%x2=10)

ﬁw%mﬁ%%ﬁﬁﬁ%m/ﬁwwﬁu&wa?a@ﬁr
fafer & =iifore - . (i) All proteins are organic compounds.

. All enzymes are organic compounds.
(i) EAO-1I

Therefore all enzymes are proteins.
(i) EIO0 -1
T WA Wil s e 2

T T W@ e R e ¥

(iv) AOI -1V ‘ T @ IREh W WNAT B

(i) AAA - III

| N G
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(iii) All Hindus are Vaishnav.
No Christians are Vaishnav.

Therefore, no Christians are Hindus.

o forg dum T
¢ furd v T R |
. A fag R T 2 |

\

(b) Change the following argument into standard form1

=
l

categorical syllogism and indicate its Figure and mood:

@

(any one)

y
frfia g = S wwe SR e ¥ wefog |
SR IER S TA A AL : (S Teh) |

(i) Some Evergreens are objects of worship,

|
1
|
|
because all fir trees are Evergreens, and some |

objects of worship are fir trees.

| T B~ T A U IS A Y F, Fw
T YR P R T e W, IR G

(i) All saints are theists and no doctors are theists.

It follows that some theists are not doctors.

oty s 2R ¥ ok w9 wme
45 2| R v Rg o 2 B @m @y e 7
T

(a) Symbolise the following using the suggested notation :

(any five) (5)

fAffe FEd w0 WA we §Y e # e
R (@ ) |

(i) Unless you be on time, you cannot catch the

bus. (T, C) °
Wﬁwﬂqﬁ@,@aﬂﬂﬁmmn
(T, C)

(ii) He is neither hardworking nor punctual. (H. P)
8 7 @ TR ® a7 & fafw 2L (H.P)
(iii) A man is successful if and only if he is honest.

(S, H)
EIH) ﬁwﬁﬁmaﬁﬁm%uﬁaﬁ{muﬁa’é
$aer & 1 (S, H)

p.T.O.
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(iv) Sunder and Ravi both will not Pass. (S, R Method to determine the val
- (S, R)

the Truth Table .
. following argument forms : (any one)

TS A B (s valdiy o€ 5)

ﬁﬂﬁmuﬁa%mﬁéwzﬁww—mﬁm%
¥ ReiRe AR (BE TH)

(v) It is not the case that you complete yoy
r

graduation and you are not awarded the degree
(C, D) @ p=4

qo>r /.. pODr

W A R e T ) T g R
@« W1 (C, D) G p>(q>1)
. o roq /& DPIF
(vi) Logicians and mathematician are deep thinkers.
(L, M) OR / A=rat

TETER T e T R aEF @M Use the shorter truth-table method to determine the validity
invalidity of the following : (any one)

(b) Use the Truth Table Method to determine which of the

IR gU-ano B gw eefefaa @ duan/sdvar wRw
. i t | } | |
following statement forms are Tautologous, Contlng:) | (@ Tw)

or Contradictory : (any one)
@ p>(qvr)

o d
e Rl P A Frere ¥ 30 CEDEY:
AT - HER A, T S AT © @Ew@) Lop
® 4> [p+ (qvp)] | B eswen
| P°q

i) (poq > [(P* ) v (e ] - | L opva
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7. Explain and jllustrate any two from the following informal
fallacies : (5%x2=10)

frfofae aaem & ¥ faeedl &1 o AeTEl ARl I |
(i) Appeal to Force
e 2
(i) Fallacy of Accent
@A QAW
(i) Complex Question
o 9T

(iv) Fallacy of composition

w=ia Ay
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